
  

 

                                         

                       SAMPLE PAPER FOR FIRST TERM EXAMINATION 2023-24      

 CLASS 11                                                                                                       MARKS:80                                                                       

General Instructions:  

1. This Question paper contains - five sections A, B, C, D and E. Each 

section is compulsory. However, there are internal choices in some 

questions.  

2. Section A has 18 MCQ’s and 02 Assertion-Reason based questions of 1 

mark each.  

3. Section B has 5 Very Short Answer (VSA)-type questions of 2 marks 

each.  

4. Section C has 6 Short Answer (SA)-type questions of 3 marks each.  

5. Section D has 4 Long Answer (LA)-type questions of 5 marks each.  

6. Section E has 3 source based/case based/passage based/integrated units 

of assessment of 4 marks each with sub-parts 

                                                     SECTION A  

1 Evaluate :-     tan (
13𝜋

12
)        

2 Solve for x:  24x < 100 , x is a real number. 

a) {1,2,3,4}    b) {……-2,-1,0,1,2,3,4}     c) (−∞, 25/6)   d) ) (−∞, 25/6]    

 

3 If A = {1, 2, 4}, B = {2, 4, 5}, C = {2, 5} then (A – B) × (B – C)  
 

a) {(1, 2), (1, 5), (2, 5)}  ;  b) {(1, 4)}    c) {1, 4}    ;   d) None  
 

 

4 If(1 − 𝑖)𝑛 = 2𝑛, then the value of n is 

(a) 1  

(b) 2  

(c) 0  

(d) None of these 

 

5 Which of the following is a singleton set? 

(a) {x : |x| = 5, x ∈ N} 

(b) {x : |x| = 6, x ∈ Z} 

(c) {x : x2 + 2x + 1 = 0, x ∈N} 

(d) {x : x2 = 7, x ∈N} 

 



 

6 If A = {x : x = 𝑛2 , n = 1, 2, 3}, then number of proper subsets is 

 (a) 3 

 (b) 8 

 (c) 7 

 (d) 4 
 

 

7 In a group of 52 persons, 16 drink tea but not coffee, while 33 drink tea. How many 

persons drink coffee but not tea ? 

(a) 17  

(b) 36  

(c) 23 

(d) 19  
 

 

8. Let A = {1, 2, 3}. The total number of distinct relations that can be defined over A, 

is  

(a) 512 

 (b) 6 

 (c) 8 

 (d) 2 

 

9. If z = (5𝑖)(
−3

5
𝑖) , then z is equal to 3 + 𝑏𝑖. The value of 𝑏 is  

(a) 1  

(b) 2  

(c) 0  

(d) 3 

 

10
. 

Find the value of  a)  cos (-870)  

11
. 

A = {
1

3
,  

2

5
, 

3

7
......,

9

19
} in set-builder form is  

(a) A = { 𝑥: 𝑥 =   
𝑛

2𝑛−1
 , n ∈ 𝑁 𝑎𝑛𝑑 1 ≤ 𝑛 ≤ 9} 

(b) A = { 𝑥: 𝑥 =   
𝑛

2𝑛+1
 , n ∈ 𝑁 𝑎𝑛𝑑 1 ≤ 𝑛 ≤ 9} 

(c) A = { 𝑥: 𝑥 =   
𝑛

2𝑛+1
 , n ∈ 𝑍 𝑎𝑛𝑑 1 ≤ 𝑛 ≤ 19} 

(d) A = { 𝑥: 𝑥 =   
𝑛

2𝑛+1
 , n ∈ 𝑧 𝑎𝑛𝑑  𝑛 ≤ 9} 

 

 

12 If f (x) = ax + b, where a and b are integers, f(–1) = –5 and f(3) = 3, then the value 

of ‘a’ is 

 (a) 3  

(b) 0  

(c) 2  

(d) 1 
 

 

13 

 
 

 

14 The domain and range of the relation R given by R = {(x, y) : y = x + 6 ;  

where x, y ∈  N and x < 6} is  

(a) {1, 2, 3}, {7, 5} 

 (b) {1, 2}, {7, 5}  

(c) {2, 3}, {5}  

 



(d) None of these 

15 Express 
5

6
 radian in degree measure.  

16 The domain and range of the function f given by f(x) = 2 – |x – 5| is 

 (a) Domain = R+ , Range = (–∞, 1]  

(b) Domain = R, Range = (–∞, 2]  

(c) Domain = R, Range = (–∞, 2)  

(d) Domain = R+ , Range = [2, ∞) 

 

17 Additive inverse of 1 – i is 

 (a) 0 + 0i  

(b) –1 – i  

(c) –1 + i  

(d) None of these 

 

18 𝑖57 +
𝑖

𝑖25 when simplified has the value 

(a) 0  

(b) 2i  

(c) – 2i 

(d) 2 

 

 

 

 

19
. 

 

 

20
. 

 

 

                                               SECTION B  

21 Find a and b if (a +b, 2a -b) = (8,7) 
 

 

22
. 

 

 

23
. 

 

 



24
. 

 

 

25
. 

 

 

                                 SECTION C  

26
. 

Using venn diagram prove that A∩ (B∪C) = (A∩B) ∪(A∩C) 

 

 

27
. 

Verify De’Morgan’s laws :- 

U = { 1,2,3,4,5,6,7,8,9,10 } 
A  =  { 1,3,4,5,7,9,10,} 

B  =  { 1,3,4,5,7,8,10 } 

 

 

28
. 

 

 

29 

 

 

30 
 

 

31 

Solve for x ;  

 

                                                  SECTION D  

32
. 

 

 

33
. 

Prove that 

 

 

34 

 
 

 

35
. 

 

 

                                                   SECTION E 

 

 



36 There are three brands of masks available for sale in a city - brand 

A, brand B and brand C. In a town of 10000 families, it was found 
that 40% families buy brand A, 20% buy brand B and 10% buy 

brand C. Also 5% families buy brands A and B, 3% buy B and C 
and 4% buy A and C. If 2% families buy all the three brands. 

 
Based on the above information answer the following: 

 
 (𝒊) Number of families which buy the mask of brand A only, is 
(a) 3030 (b) 3300 (c) 3003 (d) 4500  

 

(𝒊𝒊) Number of families which buy the mask of exactly two brands, 

are 
(a) 600 (b) 990 (c) 60 (d) 6000  

 

(𝒊𝒊𝒊) What is the number of families which buy the mask of exactly 

one brand? 
(a) 2500 (b) 5020 (c) 5200 (d) 2000 

 

 (𝒊𝒗) Number of families which buy the mask of brands A and C 

but not B is  
(a) 20 (b) 2000 (c) 400 (d) 200  

 

 



37
. 

 

 
 

 



38
. 

 

 
 
Write the equation of the curves; 
 
1----------------------------- 
 
 
2 --------------------------------- 
 
 
 
3 ------------------------------- 
 
 
4 ----------------------------- 

 

 


